Generator file information: w104763 ss_o

process_id=w104763

job_date_time=110804-150548

process_name=ss_o0

CM_energy_in_GeV=250

program_name_version=whizard-1.40

beam_particle1=e1

beam_particle2=E1

polarization1=-1.0

polarization2=+1.0

luminosity=1000

cross_section_in_fb=26100.4960407976
lumi_file=/tmp/lumi_linker_directory/lumi_linker_008

file_type=stdhep

total number_of events=5620154

number_of files=30

file_ names=w104763 01.stdhep;w104763 02.stdhep;w104763 03.stdhep;w104763 04.stdl
number_of events in_files=187229;187306;187477;187619;187292;187451;187242;187247;
fileurl=Ifn:/grid/ilc/users/miyamoto/CDS/generated/0250
logurl=http://www-jlc.in.kek.jp/~miyamoto/CDS/0250/run_output/w104763/run_01
comment=
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